

ON FINSLER SPACES SATISFYING THE CONDITION $L^5C = \delta^4$

Kumar Vineet and T. N. Pandey

Department of Mathematics and Statistics, D. D. U. Gorakhpur University,
Gorakhpur-273009, India

Email: vineet.mishra66@gmail.com, tnp1952@gmail.com

Abstract:In the year 1979, Matsumoto and Shiba [7] have discussed non-Riemannian Finsler spaces with vanishing T-tensor. In the paper, Matsumoto has shown that if a Finsler space (M^n, L) satisfy the T-condition i.e. $T_{hijk} = 0$, then for such a Finsler space L^2C^2 of M^n is a function of position only (i.e.), $L^2C^2 = f(x)$ where L is the fundamental function and C^2 is square of length of torsion tensor C_i . In the light of above observation F.Ikeda in the year 1984, studied Finsler spaces, with L^2C^2 as a function of x in detail. In the continuity of above studied Ikeda in the year 1991, considered Finsler spaces with L^2C^2 as a nonzero constant, which is a stronger condition as compared to above (i.e., $L^2C^2 = f(x)$). Pandey et a. [8] studied Finsler spaces taking L^2C^2 as a sum of function of x and y i.e. $L^2C^2 = f(x) + g(y)$.

In the present paper, we shall consider combination of L and C differently and taking $L^5C = \delta^4$, where $\delta = (a_{ijkl}(x)y^i y^j y^k y^l)^{(1/4)}$ is a well known quartic metric.

Keywords: Finsler spaces, satisfying $L^5C = \delta^4$

1. Introduction

Matsumoto in the paper, [7] studied non-Riemannian Finsler spaces with the vanishing T-tensor, which are said to satisfy the T-condition (by T-condition we mean a Finsler space whose T-tensor vanishes), then the function L^2C^2 over M^n is reduced to a function of the position only (i.e. $L^2C^2 = f(x)$), where L is the fundamental function and C is the length of torsion vector C_i . He has also quoted that if the metric tensor g_{ij} has a special form as $g_{ij} = q_{ij}^s l_i l_j$ then the function L^2C^2 becomes zero (i.e. $L^2C^2 = 0$). Because in this case the T-condition satisfies automatically and $C_i = 0$

In the light of above observation Ikeda[3] in the year 1984, studied Finsler spaces, L^2C^2 as a function of x in detail and come out with some interesting result specially for a two and three dimensional Finsler spaces. Actually Ikeda was examining the equivalence of T condition with $L^2C^2 = f(x)$. In continuity of above in the year 1991 Ikeda[4] considered Finsler spaces satisfying the condition L^2C^2 equals to nonzero constant, which is a stronger condition t $L^2C^2 = f(x)$. An example of such a Finsler space with the constant function L^2C^2 is a two-dimensional Berwald space. Pandey et al.[8] studied Finsler spaces taking LC equal to some known function of x and y i.e. $LC = f(y) + g(x)$.

In the present paper, we shall consider combination of L and C differently. Actually, we are taking, $L^5C = \delta^4$, where δ is a well known quartic metric. For such a Finsler space, if it is C-reducible then it has been worked out under what condition T-tensor vanishes.[2,10] In the last section it has been worked out under what condition such a Finsler space ($L^5C = \delta^4$) will be Landesberg or Berwald space.[1]

Throughout the paper we shall confine ourselves to Cartan's connection, and the notations and terminology of the monograph [5] will be used without comment. In the paper monograph of Matsumoto[5] will be quoted by (#).

2. T - tensor of a Finsler space with $L^5C = \delta^4$

Let l_i , h_{ij} and C_{ijk} denote the unit vector (i.e. $l_i = \frac{y_i}{L}$), be angular metric tensor and the (h)hv-torsion tensor respectively.

The well known, T-tensor T_{ijkh} ([5], #eqⁿ (28.20)) has been defined by :

$$T_{ijkh} = LC_{ijk} |_{h} + C_{ijk} l_h + C_{jkh} l_i + C_{khi} l_j + C_{hij} l_k \quad (1)$$

and the torsion tensor C_i is given by $C_i = g^{jk} C_{ijk}$, where the symbol $|_h$ denote v-covariant differentiation and g^{jk} is the reciprocal tensor of g_{jk} .

We are considering a Finsler space F^n , whose torsion tensor is such that

$$L^5C = \delta^4 \quad (2)$$

where $\delta^4 = a_{ijkl}(x) y^i y^j y^k y^l$ is a quartic metric.

Differentiation of equation (2) by y^h yields

$$L^2C_{;h} + 5LC l_h = 4a_h \quad (3)$$

where the notation ';' denote the differentiation by y^h of C and

$$\delta^3 \delta_h = \delta^3 \frac{\partial \delta}{\partial y^h} = a_{hijk} y^i y^j y^k = L^3 a_{hijk} l^i l^j l^k = L^3 a_h$$

Also a_h is defined as $L^3 a_h = a_{hijk} y^i y^j y^k$.

Contracting equation (1) by g^{jk} and multiplying with C^i , we obtain

$$C^i T_{ih} = LC^i C_i |_h + l_h C^2 \tag{4}$$

Now, differentiate the equation $C^2 = g^{ij} C_i C_j$ with respect to y^h , which yields

$$C_{;h} = \frac{C^i C_i |_h}{C}$$

Substituting above value in equation (3), we get

$$LC^i C_i |_h = C \left(\frac{4a_h}{L} - 5Cl_h \right) \tag{5}$$

In the virtue of equation (4) and equation (2.5), we obtain

$$C^i T_{ih} = 4C \left(\frac{a_h}{L} - Cl_h \right) \tag{6}$$

Conversely, let $C^i T_{ih} = 4C \left(\frac{a_h}{L} - Cl_h \right)$

$$\Rightarrow LC^i C_i |_h + C^2 l_h = 4C \left(\frac{a_h}{L} - Cl_h \right)$$

$$\Rightarrow LC_{;h} + 5Cl_h = \frac{4a_h}{L} \quad (\because C^i C_i |_h = CC_{;h})$$

$$\Rightarrow (L^2 C_{;h} + 5LC l_h = 4a_h) L^3$$

$$\Rightarrow (L^5 C)_{;h} = 4L^3 a_h \quad [\because (L^5 C)_{;h} = \frac{\partial}{\partial y^h} (L^5 C)]$$

Multiplying both side by y^h and using Euler's theorem, we get

$$L^5 C = \delta^4$$

Thus, we have

Theorem 2.1 For a Finsler space (M^n, L) of dimension n , if torsion scalar C is such as $L^5 C = \delta^4$, then following relation

$$T_{ih} C^i = 4C \left(\frac{a_h}{L} - C l_h \right)$$

holds good.

Next, for a two dimensional Finsler space the T-tensor [5,11] can be written as:

$$T_{hijk} = I_{,2} m_h m_i m_j m_k \quad (7)$$

$$\text{where, } I_{,2} = L \frac{\partial I}{\partial y^i} m_i, LC_{ijk} = I m_i m_j m_k \quad ([5], \#eq^n (28.3) \text{ and } LC = I$$

Writing, $LC = I$ in equation (2) and differentiating with respect to y^i , we have

$$(L^4 I)_{;i} = (\delta^4)_{;i} = 4L^3 a_i$$

$$\Rightarrow 4l_i I + L I_{;i} = 4a_i \quad \left(L \frac{\partial I}{\partial y^i} = I_{,2} m_i \right) \Rightarrow 4I l_i + I_{,2} m_i = 4a_i$$

Contracting both side by m^i , we get

$$I_{,2} = 3a_i m^i$$

Substituting the value of $I_{,2}$ in equation (5), we get

$$T_{hijk} = 4a_r m^r m_h m_i m_j m_k \quad (8)$$

Corollary 2.1 For a two dimensional Finsler space if $L^5 C = \delta^4$ and a_i is parallel to l_i , then $T_{hijk} = 0$.

For a C-reducible Finsler space the T-tensor [7] can be written as,

$$T_{hijk} = \frac{LC^*}{n^2 - 1} \mathbf{e}_{(hijk)} h_{hi} h_{jk} \quad (\#equation(30.28)) \quad (9)$$

where, $C^* = g^{ij} C_i |_{,j}$ and $\mathbf{e}_{(ijk)}$ represents sum of cyclic permutation in the indices h,i,j.

Contracting equation (9) by g^{jk} , we get

$$T_{hi} = \frac{LC^*}{n-1} h_{hi}$$

Using equation (4),

$$\begin{aligned}
 C^i T_{ih} &= \frac{LC^*}{n-1} C_h = \frac{4C}{L} a_h - 4C^2 l_h & (10) \\
 \Rightarrow a_h &= \frac{L}{4} \left(\frac{LC^* C_h}{C(n-1)} + Cl_h \right) \\
 \Rightarrow a_h C^h &= \frac{L}{4} \left(\frac{LC^* C}{n-1} \right)
 \end{aligned}$$

Corollary 2.2 For a C-reducible Finsler space (M^n, L) [6,9] with $L^5 C = \delta^4$ and a_i is parallel to l_i , then $T_{hijk} = 0$.

Remark 2.1 It is an open problem to examine $L^2 C^2 = f(x)$ and $L^5 C = \delta^4$ for two dimensional and C-reducible Finsler spaces with a_i is along y_i which one is the stronger condition.

3. Landsberg and Berwald spaces satisfying the condition $L^5 C = \delta^4$

Let us consider a Finsler space M^n , where C is such that :

$$L^5 C = \delta^4$$

Differentiation of above equation with respect to y^i gives

$$L^5 C_{;i} + 5L^4 Cl_i = 4\delta^3 \delta_i$$

where, we put $C_{;i} = \frac{\partial C}{\partial y^i}$ and $\delta_i = \frac{\partial \delta}{\partial y^i}$

Again, differentiating above equation with respect to y^j and using well-known relation, $h_{ij} = g_{ij} - l_i l_j$, we have

$$g_{ij} = \frac{1}{5L^3 C} \left[4\delta^2 (\delta \delta_{ij} + 3\delta_i \delta_j) - \{ L^5 C_{;i;j} + 5L^4 (l_i C_{;j} + l_j C_{;i}) + 15L^3 Cl_i l_j \} \right] \quad (11)$$

$$\begin{aligned}
 C_{ijk} &= \frac{1}{10L^3 C} \left\{ 4\delta (\delta^2 \delta_{ijk} + 3\delta e_{ijk} \delta_i \delta_{jk} + 6\delta_i \delta_j \delta_k) - L^5 C_{;i;j;k} \right\} & (12) \\
 &\quad - \frac{1}{2L^2 C} (L^2 e_{ijk} C_{;i;j} l_k + L e_{ijk} h_{ij} C_{|k} + 4L e_{ijk} C_i l_j l_k)
 \end{aligned}$$

$$+ 3C\mathbf{e}_{ijk}h_jl_k + 12Cl_lj_lk)$$

Rearranging the terms , above equation can also be rewritten as :

$$C_{ijk} = \frac{1}{10L^3C} \{4L(L^2a_{ijk} + 3LC_{ijk}a_i a_{jk} + 6a_i a_j a_k) - L^5C_{i;j;k}\} \quad (13)$$

$$- \frac{1}{2L^2C} (L^2\mathbf{e}_{ijk}C_{i;j}l_k + L\mathbf{e}_{ijk}h_{ij}C_{k|h} + 4L\mathbf{e}_{ijk}C_{i|l}l_jl_k + 3C\mathbf{e}_{ijk}h_jl_k + 12Cl_lj_lk)$$

Taking h-derivative with respect to y^h of above equation, we get

$$C_{ijk|h} = \frac{2}{5L^2C} [L^2a_{ijk|h} + 3L\mathbf{e}_{ijk}(a_{i|h}a_{jk} + a_i a_{jk|h}) + 6\mathbf{e}_{ijk}a_{i|h}a_j a_k] - \frac{L^2}{10C} C_{i;j;k|h}$$

$$- \frac{1}{2L^2C} (L^2\mathbf{e}_{ijk}l_k C_{i;j|h} + L\mathbf{e}_{ijk}h_{ij}C_{k|h} + 4L\mathbf{e}_{ijk}C_{i|h}l_jl_k \quad (14)$$

$$+ 2C_{h|l}l_lj_lk + 3C_{|h}\mathbf{e}_{ijk}h_jl_k + CC_{|h}C_{ijk})$$

Contracting above equation by y^h , we get

$$P_{ijk} = C_{ijk|0} = \frac{2}{5L^2C} [L^2a_{ijk|0} + 3L\mathbf{e}_{ijk}(a_{i|0}a_{jk} + a_i a_{jk|0})$$

$$+ 6\mathbf{e}_{ijk}a_{i|0}a_j a_k] - \frac{L^2}{10C} C_{i;j;k|0}$$

$$- \frac{1}{2L^2C} (L^2\mathbf{e}_{ijk}l_k C_{i;j|0} + L\mathbf{e}_{ijk}0_{ij}C_{k|0} + 4L\mathbf{e}_{ijk}C_{i|0}l_jl_k \quad (15)$$

$$+ 2C_{|0}l_lj_lk + 3C_{|0}\mathbf{e}_{ijk}0_{ij}l_k + CC_{|0}C_{ijk})$$

where, P_{ijk} is the (v)hv-torsion tensor and the index '0' means the contraction by y^h i.e.

$$C_{ijk|h}y^h = C_{ijk|h}.$$

If, we put $C_{ijk|h} = 0$ and $P_{ijk} = 0$ respectively, then we obtain

$$\frac{2}{5L^2C} \{L^2a_{ijk|h} + 3L\mathbf{e}_{ijk}(a_{i|h}a_{jk} + a_i a_{jk|h}) + 6\mathbf{e}_{ijk}a_{i|h}a_j a_k\} \quad (16)$$

$$- \frac{L^2}{10C} C_{i;j;k|h} - \frac{1}{2L^2C} (L^2\mathbf{e}_{ijk}l_k C_{i;j|h} + L\mathbf{e}_{ijk}h_{ij}C_{k|h} + 4L\mathbf{e}_{ijk}C_{i|h}l_jl_k$$

$$\begin{aligned}
 &+ 2C_{|h} l_i l_j l_k + 3C_{|h} e_{ijk} h_{ij} l_k + CC_{|h} C_{ijk} = 0 \\
 &\frac{2}{5L^2C} \{L^2 a_{ijk|0} + 3Le_{ijk} (a_{i|0} a_{jk} + a_i a_{jk|0}) + 6e_{ijk} a_{i|0} a_j a_k\} \\
 &\quad - \frac{L^2}{10C} C_{i;j;k|0} - \frac{1}{2L^2C} (L^2 e_{ijk} l_k C_{i;j|0} + Le_{ijk} 0_{ij} C_{k|0}) = 0
 \end{aligned} \tag{17}$$

So, we have

Theorem 3.1 The necessary and sufficient condition for a Finsler space with torsion scalar C such that $L^5C = \delta^4 (\delta^4 = a_{ijkl} y^i y^j y^k y^l)$ Berwald space, equation (16) holds good.

Theorem 3.2 The necessary and sufficient condition for a Finsler space with torsion scalar C such that $L^5C = \delta^4 (\delta^4 = a_{ijkl} y^i y^j y^k y^l)$ Landsberg space, equation (16) holds good.

Acknowledgment

The authors are thankful to the Referee for valuable comments and suggestions.

References

- [1] Asanov, G.S. (1979). New examples of S3-like Finsler spaces, Rep. on Math. Phys. V ol.16, 329-333.
- [2] Asanov, G.S. and Kirnasov, E.G. (1982). On Finsler spaces satisfying T- Condition, Aequ. Math. Univ. of Waterloo, Vol. 24, 66-73.
- [3] Ikeda, F. (1984). On Finsler spaces satisfying the condition $L^2C^2 = f(x)$, Analeleleştinti_cc, Vol.XXX, 31-33.
- [4] Ikeda, F. (1991). On the tensor T_{ijkl} of Finsler spaces, Tensor, N. S. V ol.33, 203 - 209.
- [5] Matsumoto, M. (1986). Conditions of Finsler Geometry and Special Finsler Spaces, Kaiseisha Press, Saikawa, Otsu, Japan, 1986.
- [6] Matsumoto, M. and Numata, S. (1980). On semi C-reducible Finsler spaces with constant coefficients and C2-like Finsler spaces, Tensor, N.S., V ol.34; 218 - 222.
- [7] Matsumoto, M. and Shibata, C. (1979). On semi-C-reducibility, T-tensor = 0 and S4-likeness of Finsler spaces, J. Math. Kyoto Univ., Vol. 19, 301-314.
- [8] Pandey, T.N., Chaubey, V.K. and Mishra Arunima. (2012). On Finsler Spaces with uni_ed main scalar (LC) of the form $L^2C^2 = f(y) + g(x)$, International J. Math. Combin, V ol:1 (2012); 41 - 46.
- [9] Srivastava, L.K. (2014). On Finsler spaces with unified main scalar (2C) is not of the form $L^2C^2 = \frac{\alpha^2}{\beta^2}$, Global journal of multidisciplinary studies, Vol4, 2014, issue 5.

- [10] Szabo, Z.I. (1981). Positive definite Finsler spaces satisfying the T- Condition are Riemannian, Tensor, N.S., Vol. 35, 247-248.
- [11] Watanabe, S. and Ikeda, F. (1981). On some properties of Finsler spaces based on the indicatrices, Publ. Math. Debrecen, Vol. 28, 129-136.